Unit 8: Fractions (1), Lesson 7 V

Fractions as djvision 0

o a) Richard has 4 cakes to share between 5 td
there for each toble7

There is Li— of a cake for each table.
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bles. How much cake jg
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b) Isla has 3 pies to share between 8 plates. HOW much pie is there for
each plate?

There is _3_,. of a pie for each table.

c) Aki shares 5 kg strawberries between 6 bowls. What weight of
strawberries is in each bowl?

= ‘-5 There is §,. kg of strawberries in each b
6 6

Complete each statement.

|
a) l+«5=p."—" ¢) 3+5=
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e a) Amelia has 3 m of ribbon. She cuts it into 8 equal lengths.

How long is each length?
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b) Ebo has 4 m of ribbon. He cuts it into 8 equal lengths.

How long is each length? m
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o Emma says, ‘This shows that 4 + 6 = 2.’ @
Explain her mistake.
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- Q) 5 litres fill 6 glosses 8- 1o sk 6 litres fill 9 glasses, CH‘\LQ!;
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Which glasses are bigger? Explain your answer fully.
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b) 8 litres fill 20 red watering cans. 12 litres fill 30 blue watering
cans. Which watering cans are larger?
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Explom the relot|onsh|p between 3 + 8 and 3 s using what you have leornt m

this lesson.
e The calculoiion 38 in = dp
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